
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

1.278 × ________ = 127.8 10.47 × ________ = 10470

9.545 × ________ = 954.5 6.627 × ________ = 6627

4.34 × ________ = 43.4 4.362 × ________ = 436.2

7.73 × ________ = 7730 6.542 × ________ = 65.42

9.127 × ________ = 912.7 6.264 × ________ = 626.4

3.662 × ________ = 366.2 8.364 × ________ = 83.64

2.9 × ________ = 290 4.02 × ________ = 4020

2.941 × ________ = 29.41 7.2 × ________ = 7200

6.976 × ________ = 69.76 3.694 × ________ = 3694

4.084 × ________ = 40.84 6.34 × ________ = 634
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